MTH 265, Quiz #15, Summer 2024 Name l}<€ '/

Instructions: Show all work. Use exact answers unless otherwise asked to round.

1. Evaluate fc F - d7 for F(x, y,2) = =yt + xj — 2k for the boundary of the surface
S:z% = x? + y?,0 < z < 4, oriented downward, using Stokes’ Theorem.
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2. Evaluate the flux ffs F-dSforF(x,y,2) = (cosz + xy?)i + xe %} + (siny + x22)k, where §
is the surface of the solid bounded by the paraboloid z = x? + y2 and the plane z = 4.
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3. Evaluate J'C F-dffor F(x,y,z) = —=2yzi + yj + 3xk for the boundary of the surface
S:z=5-x%—y? 2z > 1, oriented upward, using Stokes’ Theorem.
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4. Evaluate the flux [f¢ F - dS for F(x, y z) = x*1 + xyj + zk, where S is the surface of the solid
bounded by the paraboloid z = 4 — x? — y and the xy-plane using the Divergence Theorem.
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